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Shot #: 2649, Param Tree: 72

= Overcurrent Trip (DCPS)
- Auctioneered Data (idl)

F Canditioned Data (DCPS), Limits: [-24.000000Q, 24.000000] _ _ _ _ _
-4 -2 0 2 4 6
time

[ Full Alction (DCPS),ILimit = 848.06000, Max.=9012.63471, End \l/al. 898.74235L
- Action{idl)-Max = 89 741, End Val.=898.74% — — — — — — — — — — — — —
| Full Action (idl), Li = 848.000, Max.=902.634, End Val. 898.741
- Shot #: 2649.00, P m Tree: 72

|_Fault Time: -1.72 5

D
C Faults (L1) [AT, 10.0000, -1.72856]
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27804, 22.0066]
72780429, 22.006606]
], [-0.00702422, 22.0065]
ed], [-0.0070242222, 22.006520]
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